
Hw #8 Solutions 

1. 

 
 

You will have $3814.79 at the end of 24 months. $214.79 is the amount of interest you will have earned. 

2.  

 
You should deposit $318.01 monthly. 

3. $29,913.34 at the end of 18 years.  $8313.34 will be interest. 



4. You would need to deposit $2863.70 every month. 

5. The student would have $229439.40 at age 65. 

6. Yolanda would have $31,056.46 and Zach would have $30,186.94. 

7. Jeff would have $65,551.74, Maria would have $67,472.11. 

8. a) At the end of 10 years Mitch had $12,577.89. It grew without additional deposits to $88548.20 over 

the next 40 years. Bill ends up with $66,438.85. 

b) Mitch deposited $10,000 and Bill deposited $30,000. 

9. a) If you withdraw $6443.01 you will have $2.78 left at the end of 30 years. 

 

b. $5995.51 

c. $5701.90 

10. a) $59,580.81 

b) $83,413.14 

11. a) $3029.90 

b) $299,263.92 

c) $2213.62 


